Complete the first quadrant portion of the unit circle below. : SCORE: /8PTS
Inside the circle, label the radian measure of each point. (2 POINTS OFF
Outside the circle, label the corresponding x — and ¥ — coordinates of each point. FOR EACH ERROR)

(OC,1)

Let & :.—K’T’T . Fill in the blanks below. Simplify all answers.  — 2‘% 7y SCORE: /11 PTS
[a] £ is coterminal with 32 radians. NOTE: Your answer must be posmve.|
fb] The reference angle for @ is 2 radians.
A [3° —
t = —%’ —\'::':,'_ = 42X = B B X B Q
[c]  cotf= S Y A® VT VR =2
[d] cscf=_ "R . "'J\!-T= -"—2*-'\._‘{:3?,, ‘“2_\15
= B
Suppose cosf = -—%. Fill in the blanks below. Simplify all answers. SCORE: /13 PTS
Bvin 7
[a] The reference angle for ¢ is 2 radians. T KL= 21
. , /‘_,,_ﬂ 2 N 2
b] ¢ could be in quadrant(s) 2. 2 x<O /1y
25 -

477
[c] The possible value(s} of { is (are) 2, . gOTE: Your answer(s) must be between 0 and 27 ‘




Let & be an angle such that cos# =~ and sinf = # . Filt in the blanks below. Simplify all answers. SCORE: /12 PTS

~205 2B o

I ._Lz.. - - )
[b] secl = 5 -& - TF
[c] cos(-= % N ey 6
- L —~
[l cse(3-6)= s . ~52c. O
Suppose CsCf :—?; and cos? < 0. Fill in the blanks below. Simplify all answers, SCORE: /10 PTS
[a] ! is in quadrant l . XAQ, :j > O
[b] Find the value of cotf using identities, not triangles. [NOTE: You must show the proper use of identities to get full cred1t|
| + cot®t = csart
- o™t = B
CE‘V’ t= ‘34%

cof L= sce coft <O Qs

Prove the identity (2 + tan#)(2 — tant) =5—sec’ £ . SCORE: /10 PTS
=4 - >t
= L (sec D
S - secC

Let £ be an acute angle such that sect = % Fill in the blanks below. Simplify all answers. SCORE: /8 PTS
[a] Draw a corresponding right angle trlangle and label the lengths of all sides.

243 7
[b] sint = - . 203

240 2. B 3 [

0

[€] cott = 26 C 2= o 20 2




Fill in the blanks. SCORE: /6 PTS

[a] An angle of #%. radians has a reference angle of =] radians. 3%77 s
: 9

[b] csc(—18.3) = ] 914 L . [Round your answer to 4 decimal places|
Al baked a pizza using a rotating pizza oven, and took a sector of it to work. SCORE: /12 PTS
[a] The sector had an area 153 square inches, and was intercepted by a central angle of 2.7 radians. What was the radius of the pizza 7

IShow proper work, State the units of your final answer. Round your answer to 2 decimal places.| :

. _-)-— )
A=zr O
(53 =4 ~(27)
o= 340
3 .
= 065 neres

[b} The pizza oven made one revolution every 13 seconds. Find the linear and angular speeds of the edge of the pizza.

IShow proper work. State the units of your final answer. Round your answers to 2 decimal places,

ANSULSRSPEED= (O = | eevouslon 27 eAoimdS, - 0)4g RADIAS

——— Y ettt e .
I SEZ.OMDS | pevoLuTion SetonD
LnvEpve Speet= Ve rid = (O uenes | O HE re/eenNs
s oD
= 50 mu—re:!/Stzz_@wD

A ramp descends from a raised platform to a point on the ground 38 feet from the base of the platform. SCORE: /10 PTS

If the angle of depression of the ramp is 17", how long is the ramp ?

IShow proper work. State the units of vour final answer. Round your answer to 2 decimal places)

cag | 7°= £
=

=38
r Cas !—79 3q—71-+ Pge,r
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